12110 BE#HE (F) &

o I SRS I pE A WE L Iy 5 T RE A W&
43029 B 2,000 43049 RA 3,000
43030 344 500 43050 ol 3,000
43031 | g2 F Ao 500 43051 Bz fo 500

y AT EHR
43032 EX S 1,000 43052 i 5 3,000
43033 | TILESSAT] 8 o0 43053 5 4 1,000
43034 |E e . X 3 600 43054 £ 500
43035 M3 Y 500 43055 S N 1,000
43036 | X oL 200 43056 i o3a 600
Foe A (T Ny
43037 ) 87 43057 21 ] 3,000
RG22 AL A L 3
43038 SO 6 ) 114 43058 1 e btE 2 1,000
43039 -y 50, 000 43059 EIFE 1,000
SRR -1¢
13040 |1 ”,\[&L’ (=) 1,500 43060 2 EY 1,000
43041 Y 1,000 43061 F12 2 3,000
Fu A LT )
43042 %) 200 43062 R 1,000
Ferd(2ie o s
43043 ) 600 43063 e 500
_::_f'. o A4 e:f E
43044 |7 ~ (A 200 43064 &R 1,000
D)
I oA -j_(cé,i"
43045 | o) 200 43065 Fow L 2,000
43046 Fourd 10, 000 43066 FLE g 1,200
43047 I F 1,500 43067 > 100
43048 P A 100 43068 ¥ 300




12110 BE#HE (F) &

Yo B I pE A Wi EFE | wm | JedRiss T RE A W&
43069 A 200 43089 HFd 500
43070 T ALY 300
43071 P F 1,000
43072 xS 3,000
43073 BIR 7 1,000
43074 LA S 200
43075 R it 1,000
43076 Lo 3, 000
43077 BRiT 3 9, 000
43078 T B 500
43079 =5 el 1,000
43080 Sl 10, 000
43081 A 5, 000
43082 |k Fx G 1P| 4,433
43083 RE R 500
43084 HERmRS ¥ 3,000
43085 B~ h 500
43086 AR 5 1,000
43087 ik v 600
43088 T EF 1, 500




12110 BE#HE (F) &

1 I HLAB W A WHHEF | #Hx | cIpvsB g A ik &3
ERE g - # 1,000 £ R B 4 1,500
ERE Fl ¥ A4 1, 000 £ RE 3 Eds 300

E KRB BRI 3,000 £ KR FER 300

ERR § g 1, 000 spme |PLEERNR 1500
ERE FRIT 200 ERE R+ 5 300

ERE HET 3,000 ERE hHE 4,500
ERE T Tk 500 ERE TR EF 1,500
ERE I 500 ERE iE L 1,200
ERE 3 EFn 1,500 £ R FRE AL 3,000
AR ER 1,500 £ RRE FRA 700

ERE PETR 1= 1,000 #RE 2 7 AR 2,000
ERE EE 1, 000 ERRE g 1,500
E KRR B 1,000 #RE 2 3% B 4R 1,000
ERE LS S 1,000 £ RE 2 3 PAL 1,000
ERE ik Z 1,000 ERE A 1,000
ERE 3 Fe 1, 000 £ KR v Th 1,500
ERE M2 1,500 £ KRR e 1,500
ERE HzE 500 ERE P 1,500
ERE £ mF 1,000 ERE i B 3,000
ERE Hekx 1,000 ERE AR 1,000

3




12110 BE#HE (F) &

Yo B I pE A Wi EFE | wm | JedRiss T RE A W&
ERE Mk 1,500 ERE 2 L iE 500
ERE F pdv 1,000 ERE F®RY 1,500
ERE ¥ % 1,500 £ RKRE = UL 3,000
srmE | i 3, 000 ES g?”%ﬁ]j’ﬁ = 1500
R B A% 1,500 ERE O 1,500
ERE R 1,000 KRR # & qr 2,000
ERE A | 2,000 £ R £ %5 300
ERE T E 200 £ RE 13 E 1,000
ERE E@EE 1,500 ERRE I 3,000
ERE W‘L’?:f’ﬁ 26, 000 ERR s 1,500
ERE i g 2,000 ERE U > 300
ERRE B g 1,000 ERXRR 2 e § 1,500
ERE o 1,500 ERE AR 1,500
ERPE > ¥ 37 1,000 ERE F§uae 3,000
Erme | UTERREET 15,000 ERRE ERE ¥ 1,500
ERE 134 1,500 ERE 3K 1,500
£ RBE Fay 1,500 £ AR - - 500
ERE AR, 1,500 ERE B A 1, 500
ERBe | g 3, 000 & am ﬁg”f’ﬁ 21, 500
ERE 562 R 2,400 £ R F %A 1,000

4




12110 BE#HE (F) &

Yo B I pE A Wi EFE | wm | JedRiss T RE A W&
ERE e 1,500 £ R > % 3,000
£ R E 600 ERE IR 4 1,000
ERE A 1,500 £ RE =5 8 1,500
ERE 5k g 1,500 ERE B 1,500
ERRE Y 300 &R A 6, 000
ERE AR 200 £ RE 2 & EA 200

ERE ey 200 ERE ¥ 600

ERE Mg & 1,500 £ R E Fy 300

ERE 3 R 1,500 ERR ik 2 3,000
ERE QNS S 1,000 ERE % TS 400

ERE + mF 1,500 ERE s $ 1,500
ERRE EN 1,000 £ RE B 1,500
ERE Sk % 100 ERE A 9,000
R B K 500 R TR 1,000
ERE S 500 ERE FREF 1,500
ERE 5 fF i 500 &R 1+ % 200

ERE 2 F 1,500 &R BT 500

Ermpe | Bw® 1,000 ey %%;fﬁgﬁ 3, 000
ERE e 1,500 &R 4 % 3,000
ERE s 600 ERE 3 Tk 2,000

5




12110 BE#HE (F) &

Yo B I pE A Wi EFE | wm | JedRiss T RE A W&
ERE g 500 £ RE % i= 2,500
ERB |E2s 2 355 1,500 £ AR Eoa® 1,000
ERE 3500 1,500 ERE s 1,000
ERE L 2, 000 £ RE 2 ek o 3,000
srme |THEFEET 5 000 sRE: |  FBE 1,000
ERE 3 e 500 £ R 3 & 2,000
ERE Baz 1,500 E R ik 200

ERE [ HER FITR| 1,500 £ B Ewxn 200

ERR: | REE 1,500 erme [TPEIERE ) 00
ERE B b 1,000 £ R L e S 1,500
ERE H AR 2,000 ERE ¥ o 1,500
ERE 4% 1,000 ERE EAed 500

ERE e 1,500 ERE M AT 1,200
ERRE L 600 £ RRE R 3,000
ERE E 1,200 ERE ERE 1,000
ERE Er 1,500 ERE B4 1,500
ERBE o T 300 £ KR v IHE 1,500
ERE AR A 1,500 ERE ERn 1,500
ERE 4 1,500 ERE BSH 1,000
ERE Fio 1,000 ERE Lt ] 3,000

6




12110 BE#HE (F) &

Yo B I pE A Wi EFE | wm | JedRiss T RE A W&
ERE ¥ b 2,000 ERE e 500

ERE Per L 1,500 ERE B 4% 1,000
ERE ~»j-< %3 500 £ KR FAE 500

ERB PRz 1,000 KR vk 200

ERE 5% | 3 1,500 ERE I 3,000
ERE 2 ET 600 ERE P A 4,000
ES gﬁﬁfﬁq> 2, 000 same | e 1,500
ERE B4 1,000 ERE Mx R 3,000
ERE R4 K 1,500 £ RE 2 EEE S 1,500
ERE S S 1,500 £ R ¥ & 1,500
ERE BiF 1,500 ERE PERC T 6, 000
ERE ek 1,500 £ KB X it 1,500
£ KRB %k A 300 £ R E L 600

R i e 3, 000 R i Ay 18,000
ERE Wi i 3,000 ERE B 100

ERE 5 3 48 500

ERE Ty 1,500

ERE B i 2,000

ERE L= S 2,000

£ RE e 1, 500




